Trig/Pre-Calculus: exponents
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The expression (-3x%y
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A) -9x8° 0]
B) -27x%° D)
2)  The product of 3x> and 2x7 is
A) 5x!? C)
B) 5x33 D)
3)  When 5x*y? is multiplied by 2x?)?, the product is
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5)  Simplify: e
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6)  Simplify: 3*)(3***)’
A) 34a+12 C)
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7 Ify= %, find the value of y! -
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A) 5 ©)
B) 1 D)

8)  For which value of x is f(x) = 3x1
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The value of (- 64) is
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If x =4, the value of 4x +(x +3) is
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Express with rational exponents:
Express with rational exponents:

Express with rational exponents:
Express in radical form: (3a)
Express in radical form: x
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Express in radical form: (2y)?
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Simplify: -4
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Simplify: -4 -
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